x5 WMRASILMEHBREREAR

(HA7: 57/ me)

X5 4 A 5 A 6 A 7 R

X S1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &F =3.4 <10.4[ <1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &F <34 =<10.4/ <1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &F =3.4 =<10.4[ <1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 & =34 =<10.4
% % % % % % % % %N % % % % % % % % % % % % % % % % % % % % % % % % % % %

A" ¥ 100.0 100.0 100.0 100.0 [ 97.7 2.3 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
| 100.0 100.0 100.0 100.0 | 97.6 2.4 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 (100.0 100.0 100.0 100.0
£ 97.4 2.6 100.0 100.0 100.0 | 98.4 0.8 0.9 100.0 99.1 100.0 | 95.5 3.6 0.4 0.4 100.0 99.1 100.0 [ 96.2 3.3 0.5 100.0 99.5 100.0
® & 100.0 100.0 100.0 100.0 [ 99.7 0.3 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 [ 99.8 0.2 100.0 100.0 100.0
% W 100.0 100.0 100.0 100.0 [ 94.7 5.3 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 87.8 9.1 3.2 100.0 96.8 100.0
pi % 100.0 100.0 100.0 100.0 [ 96.3 3.7 100.0 100.0 100.0 | 98.7 1.3 100.0 100.0 100.0 [ 96.7 1.8 1.5 1000 98.5 100.0
B iRk 100.0 0.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 | 98.1 1.9 100.0 98.1 100.0 [ 98.3 1.7 100.0 98.3 100.0
= =1 97.8 2.2 100.0 100.0 100.0 [100.0 0.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 [ 99.0 1.0 100.0 100.0 100.0
+ B 99.2 0.7 0.1 0.0 100.0 99.8 100.0 [ 98.8 1.0 0.2 0.0 100.0 99.8 100.0 | 99.5 0.4 0.1 100.0 99.9 100.0 | 98.0 1.7 0.2 0.1 100.0 99.7 100.0
Fo 23 98.5 1.3 0.1 0.1 100.0 99.8 100.0 [ 98.2 1.6 0.1 0.1 1000 99.7 99.9 | 99.0 0.9 0.1 100.0 99.9 100.0 [ 98.2 1.7 0.1 1000 99.9 100.0
R E 99.3 0.6 0.1 100.0 99.9 100.0 [ 99.3 0.7 100.0 100.0 100.0 | 98.3 1.3 0.2 0.2 0.1 1000 99.6 99.9 | 97.8 1.9 0.1 0.3 100.0 99.6 100.0
H E 98.6 1.0 0.4 0.1 100.0 99.5 100.0 [ 98.5 1.2 0.3 1000 99.7 100.0 | 96.9 2.1 0.1 0.6 0.1 0.1 100.0 99.0 99.8| 95.9 3.0 0.3 0.8 1000 98.9 100.0
= B 99.2 0.6 0.3 100.0 99.7 100.0 [ 98.2 1.0 0.3 0.5 100.0 99.2 100.0 | 99.3 0.5 0.2 100.0 99.8 100.0 [ 99.3 0.7 100.0 100.0 100.0
2 B 99.0 0.7 0.4 100.0 99.6 100.0 [100.0 100.0 100.0 100.0 | 96.9 3.1 100.0 100.0 100.0 [ 96.7 2.0 1.3 1000 98.7 100.0
E Y 99.0 0.8 0.1 0.1 100.0 99.8 1000 | 987 1.0 0.1 0.1 0.0 100.0 99.8 1000 | 985 1.1 0.1 0.2 0.0 00 1000 99.6 999 | 97.6 1.9 0.2 0.3 1000 99.5 100.0
204EFENAHE) 98.8 1.0 0.1 0.1 0.0 100.0 99.8 100.0 [ 98.7 1.1 0.1 0.1 0.1 1000 99.7 99.9 | 98.2 1.3 0.2 0.2 0.1 0.0 100.0 99.5 99.9| 98.3 1.4 0.2 0.1 0.0 1000 99.7 100.0
28ME LYY 98.5 1.2 0.2 0.1 100.0 99.7 100.0 [ 98.7 1.0 0.1 0.1 0.0 100.0 99.7 100.0 | 98.8 0.9 0.1 0.1 0.0 100.0 99.7 100.0 [ 98.5 1.4 0.1 0.1 100.0 99.8 100.0

X5 8A 9 A 10 B 11 R

tﬁ;lz =14 ~34 ~54 ~104 ~204 205= AF =34 =104| =14 ~34 ~54 ~104 ~204 205= AHit =34 =104| =14 ~34 ~54 ~104 ~204 205= Hit =34 =104| =14 ~34 ~54 ~104 ~204 205= &i =34 =104
% % % % % % % % %N % % % % % % % % % % % % % % % % % b % % % % % % % % %

A" T 95.2 4.8 100.0 100.0 100.0 [ 97.5 0.9 1.0 0.5 100.0 98.5 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
Z= 4 86.6 7.1 3.1 3.2 100.0 93.7 100.0 | 98.0 2.0 100.0 100.0 100.0 | 94.2 5.8 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
£ 96.9 2.0 0.5 0.6 100.0 99.0 100.0 [ 98.7 0.5 0.4 0.4 100.0 99.2 99.6 | 97.6 2.4 0.0 100.0 100.0 100.0 [ 97.9 1.7 0.4 100.0 99.6 100.0
® & 100.0 100.0 100.0 100.0 [ 96.9 3.1 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 | 99.6 0.2 0.1 1000 99.9 100.0
% W 97.0 3.0 100.0 97.0 100.0 [ 94.5 2.5 3.0 100.0 97.0 100.0 | 94.1 3.1 2.9 100.0 97.1 100.0 [ 97.2 2.8 100.0 100.0 100.0
pi % 98.6 1.4 100.0 100.0 100.0 [ 97.8 2.2 100.0 100.0 100.0 | 98.7 1.3 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
B iRk 95.4 4.6 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
== 98.7 1.3 100.0 100.0 100.0 | 99.4 0.6 100.0 100.0 100.0 | 98.6 1.4 100.0 100.0 100.0 | 97.4 1.3 1.4 1000 98.6 100.0
+ B 98.2 1.4 0.2 0.2 100.0 99.6 100.0 | 98.4 1.2 0.2 0.2 100.0 99.6 100.0 | 99.4 0.5 0.1 100.0 99.9 100.0 | 99.1 0.8 0.1 0.1 100.0 99.8 100.0
Fo 23 96.5 2.7 0.8 0.0 100.0 99.2 100.0 | 97.4 2.0 0.4 0.1 0.1 1000 99.4 99.9 | 96.9 1.8 0.1 0.4 0.8 1000 98.7 99.2 | 98.3 1.4 0.3 0.1 1000 99.6 99.9
R"/E 98.4 1.4 0.2 100.0 99.8 100.0 [ 97.7 2.1 0.1 0.1 100.0 99.8 100.0 | 98.8 1.2 100.0 100.0 100.0 [ 98.7 1.2 0.1 100.0 99.9 100.0
H E 98.1 1.3 0.1 0.3 0.1 100.0 99.4 99.9| 96.7 2.1 0.4 0.4 0.4 1000 98.8 99.6 | 98.3 1.3 0.3 0.1 100.0 99.6 100.0 [ 98.0 1.7 0.3 1000 99.7 100.0
= B 100.0 100.0 100.0 100.0 | 99.6 0.4 100.0 100.0 100.0 | 99.3 0.7 100.0 100.0 100.0 [ 99.5 0.5 100.0 100.0 100.0
2 B 97.8 2.2 100.0 100.0 100.0 [ 99.3 0.7 100.0 100.0 100.0 | 99.5 0.5 100.0 100.0 100.0 | 98.6 1.4 100.0 100.0 100.0
E Y 98.0 1.6 0.2 0.2 0.0 0.0 1000 995 1000 | 98.0 1.5 0.2 0.2 0.1 100.0 995 999 | 986 1.1 0.1 0.1 0.1 1000 99.7 999 | 987 1.1 0.1 0.1 0.0 1000 99.8 100.0
204EFENAHE) 98.2 1.2 0.2 0.3 0.1 1000 99.5 99.9| 98.6 1.0 0.2 0.2 1000 99.6 100.0 | 98.5 1.1 0.2 0.1 0.0 0.0 100.0 99.6 99.9| 98.8 1.1 0.1 0.1 1000 99.8 100.0
2AE LI 97.7 1.8 0.3 0.1 0.0 100.0 99.5 100.0 [ 98.3 1.3 0.2 0.2 0.0 0.0 100.0 99.6 100.0 | 99.0 0.8 0.1 0.1 0.0 100.0 99.8 100.0 [ 98.9 0.8 0.2 0.0 0.1 100.0 99.7 99.9




(A2 7/ me)

X5 12 R 1A 2 R 3 A
X <14 ~34 ~54 ~104 ~204 2055 @i =34 =104| <14 ~34 ~54 ~104 ~204 2055 @F =34 =104| <14 ~34 ~54 ~104 ~204 2055 AF =34 =104| <14 ~34 ~54 ~104 ~204 2055 AF =34 =104
% % % % % % % % % % % % % % % % % % % % % % %
& ¥ |100.0 1000 100.0 100.0 | 96.8 1.6 1.6 1000 98.4 100.0 | 98.1 1.9 1000 98.1 100.0 [100.0 1000 100.0 100.0
Z= & [100.0 100.0 100.0 100.0 | 96.8 3.2 1000 100.0 100.0 | 94.0 6.0 100.0 100.0 100.0 | 94.8 5.2 100.0 100.0 100.0
Lo {983 17 1000 100.0 100.0 [ 97.9 2.1 1000 100.0 100.0 | 97.4 2.1 0.5 0.0 1000 99.5 100.0 | 985 0.5 0.0 1.0 1000  99.0 100.0
#% & [100.0 1000 100.0 100.0 | 97.2 2.8 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
#% W (974 26 100.0 100.0 100.0 [100.0 1000 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 1000 100.0 100.0
E B [100.0 1000 100.0 100.0 | 98.8 1.2 1000 100.0 100.0 |100.0 100.0 100.0 100.0 [ 98.9 1.1 100.0 100.0 100.0
B R | 988 1.2 1000 98.8 100.0 | 98.5 1.5 1000 100.0 100.0 | 98.2 1.8 1000 100.0 100.0 | 98.5 1.5 0.0 1000 100.0 100.0
B & |90 1.0 1000 99.0 100.0 | 96.5 3.5 1000 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
+ B[990 07 02 01 1000 99.8 100.0 | 98.6 1.0 0.2 0.1 0.1 0.1 1000 99.6 99.9| 988 1.0 0.1 1000 99.9 100.0 [ 99.2 0.7 0.1 1000  99.9 100.0
# B [984 1.2 01 01 0.1 1000 99.6 999975 1.8 02 04 0.1 1000 99.3 99.9 [ 97.7 2.2 0.1 1000 99.9 100.0 [ 978 1.7 0.3 0.2 1000 99.5 100.0
BWE [984 14 03 1000 99.7 100.0 | 98.4 1.6 1000 100.0 100.0 | 98.8 1.0 0.2 1000 99.8 100.0 | 98.8 1.0 0.2 1000 99.8 100.0
@ E [984 11 04 0.1 1000 99.5 999|979 1.8 02 0.1 1000 99.7 100.0 | 98.2 1.5 0.1 0.1 1000 99.8 999|987 1.1 0.2 1000  99.8 100.0
=8 (995 05 1000 100.0 100.0 [ 98.9 1.1 1000 100.0 100.0 |100.0 1000 100.0 100.0 | 98.5 1.5 1000 100.0 100.0
2B | 978 07 15 100.0 98.5 100.0 | 97.7 2.3 1000 100.0 100.0 | 97.8 2.2 100.0 100.0 100.0 [ 98.8 1.2 100.0 100.0 100.0
Ty 987 10 02 00 00 1000 997 1000 982 15 01 01 00 00 1000 997 999| 986 12 01 00 00 1000 99.8 1000 | 988 10 01 041 1000 99.8 100.0
204FEFEEH 983 1.3 0.1 0.2 0.0 0.0 1000 99.7 99.9| 988 1.0 02 0.1 1000 99.7 100.0 | 988 1.1 0.1 0.1 0.0 1000 99.9 100.0 [ 986 1.2 0.1 0.1 0.0 1000  99.8 100.0
O8HEEE) 984 1.2 0.1 0.2 1000 99.7 100.0 | 988 0.9 0.2 00 0.1 1000 99.7 99.9] 986 1.2 0.1 00 0.0 1000 99.8 100.0 | 986 1.2 0.1 0.0 0.1 1000 99.7  99.9
X5 F #9(4R~3A8) Z ZEAIEEERERURIL)
#hX <14 ~34 ~54 ~104 ~204 205= &F =34 =104 =14 =34
% %
B ¥ | 988 08 02 02 1000 99.6 100.0 98.7 (0.1) 99.5 (0.1)
= 0 96.9 2.6 03 03 100.0  99.5 100.0 96.5 (0.4) 99.0 (0.5)
£ [976 1.9 02 03 00 1000 99.5 100.0 97.5 (0.1) 99.5 (0.0)
#® X 995 0.5 0.0 100.0 100.0 100.0 98.6 (0.9) 99.3 (0.7)
#%/ W [968 2.1 05 0.5 1000 99.0 100.0 97.7 (-0.9) 100.0 (-1.0)
E B 98.7 1.2 0.1 1000 99.9 100.0 98.0 (0.7) 99.5 (0.4)
BB & [988 08 01 03 1000 99.6 100.0 97.0 (1.8) 99.2 (0.4)
B & 989 09 0.1 0.1 1000 99.8 100.0 98.9 (0.0) 99.9 (-0.1)
+ B [988 09 01 01 00 0.0 1000 99.8 100.0 98.8 (0.0) 99.8 (0.0)
# B [979 1.7 02 01 0.1 1000 99.5 99.9 98.5 (-0.6) 99.6 (-0.1)
B E [986 1.3 01 01 00 1000 99.8 100.0 98.6 (0.0) 99.7 (0.1)
W E [979 16 03 02 01 0.0 1000 99.5 99.9 98.3 (-0.4) 99.6 (<0.1)
RA [993 06 00 0.1 1000 99.9 100.0 99.1 (0.2) 99.8 (0.1)
2 98.3 1.4 0.1 0.1 1000  99.7 100.0 98.1 (0.2) 99.9 (-0.2)
Ty 984 12 01 01 00 00 1000 997 100.0 98.5 (-0.1) 99.7 (0.0)
204EFEAHS 985 1.1 0.2 0.1 0.0 0.0 1000 99.7 100.0
O8HEEEH) 98.6 1.1 0.2 0.1 0.0 0.0 1000 99.7 100.0




	表5

